
-0.2 0 0.2 0.4 0.6 0.8 1 1.2

1

10

210

310

ET(had) / pT(em) in Streaming

No isEM, basic cuts

isEM&0x7FF, mT cut

jetN = (0 or 1)

ET(had) / pT(em) in Streaming



0 0.2 0.4 0.6 0.8 10

500

1000

1500

2000

2500

3000

3500

 (37) in StreamingηR_

No isEM, basic cuts

isEM&0x7FF, mT cut

jetN = (0 or 1)

 (37) in StreamingηR_



0 0.005 0.01 0.015 0.02 0.025 0.030

200

400

600

800

1000

1200

1400

_eta2 in Streamingω

No isEM, basic cuts

isEM&0x7FF, mT cut

jetN = (0 or 1)

_eta2 in Streamingω



0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

1

10

210

310

410

 E in Streaming∆

No isEM, basic cuts

isEM&0x7FF, mT cut

jetN = (0 or 1)

 E in Streaming∆



0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

1

10

210

310

410

 E_max2 in Streaming∆

No isEM, basic cuts

isEM&0x7FF, mT cut

jetN = (0 or 1)

 E_max2 in Streaming∆



0 1 2 3 4 5 6 7 8 9 100

200

400

600

800

1000

_tot1 in Streamingω

No isEM, basic cuts

isEM&0x7FF, mT cut

jetN = (0 or 1)

_tot1 in Streamingω



0 0.2 0.4 0.6 0.8 1 1.20

100

200

300

400

500

600

700

F_side in Streaming

No isEM, basic cuts

isEM&0x7FF, mT cut

jetN = (0 or 1)

F_side in Streaming



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 10

100

200

300

400

500

600

700

800

_3strips in Streamingω

No isEM, basic cuts

isEM&0x7FF, mT cut

jetN = (0 or 1)

_3strips in Streamingω



0 0.5 1 1.5 2 2.5 3 3.5 40

200

400

600

800

1000

1200

1400

E(calo) / p(track) in Streaming

No isEM, basic cuts

isEM&0x7FF, mT cut

jetN = (0 or 1)

E(calo) / p(track) in Streaming



0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 10

50

100

150

200

250

300

350

N_TR / N_straw in Streaming

No isEM, basic cuts

isEM&0x7FF, mT cut

jetN = (0 or 1)

N_TR / N_straw in Streaming


	had_leak.pdf
	r_eta.pdf
	omega_eta2.pdf
	delta_e.pdf
	delta_e_max2.pdf
	omega_tot1.pdf
	f_side.pdf
	omega_3strips.pdf
	e_over_p.pdf
	tr_hits.pdf

